WSC series

IP67 SLOPED PLASTIC CASE

Ergonomic design and streamlined shape.

Best suited for desktop operation with its sloped surface.
2 different inclined angles, 13° and 18° are available to select for various operating environments.
Streamlined shape enables the unit to be gripped better when used as a handheld instrument.

2 angles : 13° and 18° \

Photo : 13° type

Best suited for desktop operation with its sloped surface.

High elasticity and good durability for maintaining waterproofing capability.
Built-in insert nut use for long-lasting protection even after frequent opening and closing.

* S

WSC-1



APPLICATION EXAMPLE

Medical Measurement Device - Medical Controller

Transmitter -
Network Equipment

How to make waterproof buttons and switches

Please utilize a waterproof membrane keypad, membrane switch or overlay.
Note that the waterproof performance will be lost by drilling/milling holes or cutouts for buttons or switches on waterproof enclosures.

How to make waterproof cable hole

Please utilize a cable gland from our available range of cable gland accessories.

WSC-2



WSC SERIES  IP67 SLOPED PLASTIC CASE [

Technical Data

Protection class : IP67
Operating temperature : -10°C ~ +60°C
Recommended torque : 0.2 ~ 0.3N *m

m Suitable as a desktop controller or measurement instrument with its ergonomic
design.

m Streamlined shape enables the unit to be gripped better when used as a
handheld instrument.

m |P67 protection class allows the unit to be used outdoors or under environments
with water splashes, such as medical, research or measurement equipments.

Components

Mol parimame [ e | W | ColorlFnen |
n Top Cover 1 Flame-resistant ABS UL94V-0 Off white « Black

n Bottom base 1 Flame-resistant ABS UL94V-0 Off white « Black

[ 3 | Gasket 1 Silicone Black

n Screw 4 Stainless steel binding head screw M2.5-8 Unfinished

“ Rubber feet 4 Polyurethane Transparent

Accessories (Optional parts)

- ) = ) tw“
L - Cas
- - j“ €«
H - A~ ." ” 4
e
- LN
PCB mounting screw EM series Cable gland TORX screw MR series
See page EM - MR-1 See cable gland pages See page EM - MR-1

WSC-3



- - m Drawings below are reference examples only.
WSC dimensions DXF/DWG/PDF drawings available on our website.
W

R

Top Cover (External) Top Cover (Internal)

a C

@ ,

Product no. / Dimensions

[ eomwwe [ e | w [ o [ w ]« [ o[ o[ a ] e[ [ o] o |
140 52 77

4-M2.5 Insert nut

@D WsSC10-14-5W @I wsc10-14-5B 100 17 87 100 10 13.9 48.2 13°
@D WSC10-14-7W @I wsc10-14-7B 100 140 72 77 17 87 100 22 27.4 48.2 18°
@ WsSC14-14-5W @I WsC14-14-5B 140 140 52 117 117 128 100 10 13.8 80.5 13°
D WsC14-14-7TW @I wsC14-14-7B 140 140 72 117 117 128 100 22 27.4 80.5 18°
@D wsc18-14-5W @D wscC18-14-5B 175 140 52 152 17 163 95 11.3 13.8 103.5 13°
D Wsc18-14-7TW I wsc18-14-7B 175 140 72 152 117 163 95 23.7 274 103.5 18°

WSP-M2.3 INCLINED SPACER B

= Due to the sloped shape of the WSC series, boss-tops are also angled.
So when mounting PCB on, some gap between the screw head and PCB
surface will be generated as shown the diagram. WSP-M2.3 helps to fill
the gap.

= EM-2.3-8 as PCB mounting screws are available for bosses in bottom
base. (See page 22)

Components

Mo | parivame | pce | Wawa | Colorifmen |
n Inclined spacer 4 POM Black

n Screw (Tapping M2.3-8) 4 Steel Trivalent chromate

= Torque 0.1N +m

Product no. / Details

P WwsP-M23 WSC (for bottom base PCB boss) 4

WSC-4



Accessories (Optional parts)

EM SERIES PCB MOUNTING SCREW
— . = Self-tapping screws for mounting PCB on bosses or standoffs.
§ 4 = EM-3-6 self-tapping screws are suitable for mounting 1.6mm or thicker PCB.
+ S

Product no. / Dimensions

EM-1.6
EM-2

EM-2.3

™ Em-2.3-8
EM-2.6

EM-3

EM-3-6

23
26

Steel Trivalent chromate WC + CSS « CS « PS (M1.6 size)
5 Steel Trivalent chromate PS « TW « TWN « TWF « WP (M2 size) 50
WH «LC + LCT * LCS « LCE * PFE
WSC (Top cover bosses)
6 Steel Trivalent chromate PF « PFF (M2.3 size) 50
TW « TWN « TWF (M2.3 size)
WP (M2.3 size)

8 Steel Trivalent chromate WSC (Bottom base bosses) 50
6 Steel Trivalent chromate PF « PFF « WP (M2.6 size) 50
5 Steel Trivalent chromate su 50

6 Steel Trivalent chromate UGS © T TN TP (B e

MR SERIES TORX SCREW

=

Product no. / Dimensions

,«MMMMEJ
.
\

. % Countersunk head Pan head With pin * Without pin
_ | @ @
pin

4;

% : MR1.6-6S, MR-2S, MR2.6-10[_], and MR3-14[] are
without pin.

% Mark = Without pin

MR1.6-6S%
MR2.5-8PS
MR2.6-10S%

MR2.6-10B%

MR2.6-12PS

MR2.6-14PS

MR2.6-14S

MR2.6-18S

MR3-8PS
MR3-14S%
MR3-14B%
MR-18
MR-1B
MR-28

25
26

2.6

26

2.6

26

26

w W W

10

10

12

14

14

18

Steel Nickel plated CS -+ CSS 20

T8 Pan Steel Nickel plated PF « PFE « PFF (M2.5 size) 20

T8 Countersunk Steel Nickel plated TW « TWN (M2.6 models) 20
. TWF (M2.6 models)

T8 Countersunk Steel Black trivalent chromate MX « MXA » MXB « MXF (M2.6 models) 20

) LCT«LCS +LC115-F2/F3
T8 Pan Steel Nickel plated LCT - LCS - LC1455-F6 20
LCT « LCS « LC115H-F2 / F3/ M2/ 9V
LCT ¢ LCS ¢ LC135-F4 / M2/ M3 / 9V
LCT « LCS « LC135H-F4 / M2 / M3 / 9V
T8 Pan Steel Nickel plated LCT + LCS + LC145-F6 / M2 / M4 20
LCT « LCS « LC145H-F6 / M2 / M4
LCT « LCS + LC165-M4
LCT « LCS « LC165H-M4

LCT +LCS «LC115-N/F2/F3
LCT + LCS » LC145S-F6 / 145S-N
T8 Countersunk Steel Nickel plated LCE115-N 20
TW « TWN7-2-11/ 7-4-11 / 7-5-11
TWF7-2-11/ 7-4-11 / 7-5-11 / 8-2-8 / 8-4-8

LCT +LCS « LC115H-N/F2/F3 /M2 / 9V
LCT +LCS +LC135-N/F4 /M2 /M3 /9V
LCT « LCS « LC135H-N/F4 /M2 / M3 / 9V
. LCT+LCS + LC145-N/F6 /M2 / M4
T8 Countersunk Steel Nickel plated LCT + LCS » LCA45H-N / E6 / M2 / M4 20
LCT +LCS « LC165-N / M4
LCT * LCS * LC165H-N / M4
LCE115H-N « LCE135-N « LCE145H-N « LCE165H-N

T10 Pan Steel Nickel plated PF « PFE « PFF (M3 size) 20
T10 Countersunk Steel Nickel plated TW « TWN (M3 models) 20
. TWF (M3 models)

T10 Countersunk Steel Black trivalent chromate MX « MXA « MXB * MXF (M3 models) 20
T10 Countersunk Steel Nickel plated uc 20
T10 Countersunk Steel Black trivalent chromate UC - UCY +US 20
T10 Countersunk Steel Nickel plated HEN 20

EM + MR-1



RMW SERIES WEATHERPROOF CABLE GLAND

m Weatherproof cable gland equipped with high ultraviolet and degradation
resistant silicone sealing insert and O-ring.

A ‘ K m Recommended to use outdoors where waterproofing is critical.
)))} ) Components u PA = Polyamide
| (No.|  partname | Weer
ER Cap PA66 UL94V-2
n Sealing insert Silicone
[ 3 | Connector PAGE UL94V-2
“ O-ring Silicone
[ 5 | Nut PAG6 ULO4V-2

Technical Data

Operating temperature: -20°C ~ +80°C

‘ Protection class: IP67

< = DXF/DWG/PDF drawings available on our website.

m Lock nut is not included for RMW10S-6.
Please drill a proper thread hole into the enclosure for installation.

Product no. / Dimensions

O Black @ Light gray Mounting hole m
1 13

RMW8L-2.5B RMW8L-2.5S M8x1.25 ®8.2 2.5 19.5 11.8 13.5 1
RMW8L-4B RMW8L-4S M8x1.25 8.2 25 4 13 19.5 11.8 13.5 1
RMW10S-6B RMW10S-6S M10x1.5 — 3 6 8 20.5 13 14.4 1
RMW10L-6B RMW10L-6S M10x1.5 $10.2 3 6 13 20.5 13 14.4 1
RMW12S-7B RMW12S-7S M12x1.5 ®12.2 3.5 7 © 20.5 16 17.6 1
RMW12L-7B RMW12L-7S M12x1.5 ®12.2 3.5 7 14.5 20.5 16 17.7 1
RMW16S-8B RMW16S-8S M16x1.5 $16.2 4 8 9 23.5 19 21 1
RMW16L-8B RMW16L-8S M16x1.5 ®16.2 4 8 15 24 19 21 1
RMW20S-12B RMW20S-12S8 M20x1.5 $20.2 6 12 10 29 24 26.2 1
RMW20L-12B RMW20L-12S M20x1.5 $20.2 6 12 15 28.5 24 26.2 1
RMW25L-17B RMW25L-17S M25x1.5 $25.2 1 17 15 35 33 36.2 1
RMW32L-21B RMW32L-21S M32x1.5 ®32.3 13 21 15 38 36 39.5 1
RMW40L-27B RMW40L-27S M40x1.5 $40.3 18 27 18 43.5 45.7 50.5 1
RMW50L-38B RMWS50L-38S M50x1.5 ®50.4 27 38 20 50.5 60 66.5 1
RMW8L-2.5B-P RMWS8L-2.5S8-P M8x1.25 ® 8.2 1 2.5 13 19.5 11.8 13.5 100
RMW8L-4B-P RMW8L-4S-P M8x1.25 ¢ 82 25 4 13 19.5 1.8 13.5 100
RMW10L-6B-P RMW10L-6S-P M10x1.5 ©10.2 3 6 13 20.5 13 14.4 100
RMW12S-7B-P RMW12S-78-P M12x1.5 D12.2 3.5 7 © 20.5 16 17.6 100
RMW12L-7B-P RMW12L-7S-P M12x1.5 ®12.2 3.5 7 14.5 20.5 16 17.7 100
RMW16S-8B-P RMW16S-8S-P M16x1.5 ®16.2 4 8 9 235 19 21 100
RMW16L-8B-P RMW16L-8S-P M16x1.5 16.2 4 8 15 24 19 21 100
RMW20S-12B-P RMW20S-12S-P M20x1.5 $20.2 6 12 10 29 24 26.2 100
RMW20L-12B-P RMW20L-12S-P M20x1.5 ©20.2 6 12 15 28.5 24 26.2 100
RMW25L-17B-P RMW25L-17S-P M25x1.5 $25.2 1" 17 15 35 33 36.2 100

RMW-1



RMW series silicone sealing insert weatherproof test report

Object: Cut into a piece of the silicone sealing insert from RMW series and attach it onto an aluminium plate.
For comparison, NBR sealing insert from our RM and EPDM sealing insert from another manufacturer is also attached for comparison purposes.

e \ \
— ==l ¥
Y
Before After
Testing conditions
Equipment : 7.5kW Super Xenon Weather Meter SX75 (Suga Test Instruments Co., Ltd.- http://www.sugatest.co.jp/english/)
Conditions : JIS B7754 : 1991

Testing with an authorized Xenon arc lamp weathering test equipment under the conditions denoted below.
Irradiance : 180W/m? at 300-400nm
Black Panel Temperature : 63+3°C Humidity Range : 50+10%
Cycle Conditions : 120 minutes cycle (18 minutes irradiation + water spray - 102 minutes irradiation)
Time period : 2,000 hours (equivalent to a period of 4 years under natural conditions)
Total radiant exposure : 1296MJ/m’

Test result (visual / touch inspection)
Silicone sealing insert material : No cracks, no gloss transition, no powder - no appearance change at all. Flexibility remains unchanged.

Before After

NBR material from our RM series : Lost glossiness on the surface and material is stiffened.

Before After

EPDM material from weatherproof cable gland of another manufacturer : Cracked, color drastically faded and powder appeared on the surface.

Before

RMW-2



RM SERIES POLYAMIDE CABLE GLAND

S
2 - b s r s
= Low cost cable glands made from polyamide material.

= Wide selection, for M8 ~ M63, suitable for ®1mm ~ ®44 mm cable.

= High oil resistant NBR rubber sealing and O-ring. Components = PA = Polyamide

— Cap PA66 UL94V-2
n Sealing insert NBR
“ Connector PA66 UL94V-2
“ O-ring NBR
[ 5 | Lock nut PA66 UL94V-2

RM dimensions

L H sSw

1

Technical Data

Protection class: IP67
Operating temperature: -20°C ~ +80°C

= DXF/DWG/PDF drawings available on our website.
= Lock nut is not included for RM8S-2.5, 8S-4, and 10S-6 models.

Please drill a proper thread hole into the enclosure for installation.

Product no. / Dimensions

RM8S-2.5B RM8S-2.5S M8x1.25 19.5 11.8 13.5 1
RM8L-2.5B RM8L-2.5S M8x1.25 $8.2 1 25 13 19.5 1.8 13.5 1
RM8S-4B RM8S-4S M8x1.25 — 2.5 4 7.5 19.5 1.8 13.5 1
RM8L-4B RM8L-4S M8x1.25 8.2 25 4 13 19.5 1.8 13.5 1
RM10S-6B RM10S-6S M10x1.5 — 3 6 8 20.5 13 14.4 1
RM10L-6B RM10L-6S M10x1.5 ®10.2 3 6 13 20.5 13 14.4 1
RM12S-7B RM12S-7S M12x1.5 ®12.2 3.5 7 9 20.5 16 17.6 1
RM12L-7B RM12L-78 M12x1.5 ®12.2 3.5 7 14.5 20.5 16 17.7 1
RM16S-8B RM16S-8S M16x1.5 $16.2 4 8 9 235 19 21 1
RM16L-8B RM16L-8S M16x1.5 $16.2 4 8 15 24 19 21 1
RM20S-12B RM20S-128 M20x1.5 $20.2 6 12 10 29 24 26.2 1
RM20L-12B RM20L-128 M20x1.5 $20.2 6 12 15 28.5 24 26.2 1
RM25L-17B RM25L-17S8 M25x1.5 ®25.2 1 17 15 35 33 36.2 1
RM32L-21B RM32L-218 M32x1.5 ®32.3 13 21 15 38 36 39.5 1
RM40L-27B RM40L-27S M40x%1.5 ®40.3 18 27 18 43.5 45.7 50.5 1
RM50L-38B RM50L-38S M50x1.5 D50.4 27 38 20 50.5 60 66.5 1
RM63L-44B RMG63L-44S M63x1.5 D63.4 37 44 20 53 68 75.5 1
RM8L-2.5B-P RM8L-2.5S-P M8x1.25 8.2 1 2.5 13 19.5 11.8 13.5 100
RM8L-4B-P RM8L-4S-P M8x1.25 8.2 25 4 13 19.5 11.8 13.5 100
RM10L-6B-P RM10L-6S-P M10x1.5 10.2 3 6 13 20.5 13 14.4 100
RM12S-7B-P RM12S-7S-P M12x1.5 ®12.2 3.5 7 9 20.5 16 17.6 100
RM12L-7B-P RM12L-7S-P M12x1.5 ®12.2 3.5 7 14.5 20.5 16 17.7 100
RM16S-8B-P RM16S-8S-P M16x1.5 ®16.2 4 8 9 23.5 19 21 100
RM16L-8B-P RM16L-8S-P M16x1.5 16.2 4 8 15 24 19 21 100
RM20S-12B-P RM20S-128-P M20x1.5 ©20.2 6 12 10 29 24 26.2 100
RM20L-12B-P RM20L-12S-P M20x1.5 ©20.2 6 12 15 28.5 24 26.2 100
RM25L-17B-P RM25L-17S-P M25x%1.5 25.2 1" 17 15 35 33 36.2 100

RM-1



RPG SseERIES POLYAMIDE CABLE GLAND

!v .
. [\

"

\

= Inexpensive cable glands made from polyamide material with PG

Q*\

are

threading.
9 Components = PA = Polyamide
" Poh ollresistant FBR rubher seaiing &nd 0-ing. [No| — Partname | Watera |
art name
u |P67 protection class. “
Cap PAG6 UL94V-2
n Sealing insert NBR
RPG dimensions [ 3 | Connector PAG66 UL94V-2
[ 4 | O-Ring NBR
N ow [ 5 | Lock-nut PAG6 UL94V-2

Technical Data

Protection class: IP67
Operating temperature: -20°C ~ +80°C

HE

= DXF/DWG/PDF drawings available on our website.

Product no. / Dimensions

RPG7-7B RPG7-7G 12.5 ®12.7 3 20.5 17.7 1
RPG9-8B RPG9-8G PG9 15.2 P15.4 4 8 9 23.5 19 21 1
RPG11-10B RPG11-10G PG11 18.6 18.8 5 10 9 26 22 24 1
RPG13.5-11B RPG13.5-11G PG13.5 20.4 $20.6 6 1" 10 29 24 26.4 1
RPG16-14B RPG16-14G PG16 225 ©22.7 8 14 10 30 26.7 29.5 1
RPG21-18B RPG21-18G PG21 28.3 $28.5 13 18 12 35 33 36.5 1
RPG29-25B RPG29-25G PG29 37 ®37.2 18 25 12 41.5 42 46.5 1

RPG-1



Accessories (Optional parts)

SP SERIES SEALING PL

I
\M"ir/

-

-
[,

m Sealing plug for cable glands when not in use.

= Maintain a waterproof seal when plugged into the sealing insert
on cable glands.

|

|

|

\
D1

— — 1——

= Material : Nylon

Product no. / Dimensions

SP-12 10.2 {1515 RMW12, RM12, RMW16, RM16, RPG7, RPG9

SP-16 15.6 9.5 15.5 RMW20, RM20, RPG11, RPG13.5 10
SP-20 19.6 13.5 16.5 RPG16 10
SP-25 244 17.5 17 RMW25, RM25, RMW32, RM32, RPG21 5
SP-40 32.5 245 17.5 RMW40, RM40, RPG29 5
SP-50 47.2 38.9 17.6 RMWS50, RM50 5

SP-1



AG SERIES HIGH WATER PROTECTION CABLE GLAND

= High water protection IP68 (1bar / 30min) polyamide cable gland.
= Wide selection, for M8 ~ M50, suitable for ®2.5mm ~ ®42 mm cable.

= Super tough and superior heat resistant PA6GF (glass fiber filled PA6) material on cap and Operating temperature: -20°C ~ +100°C

connector.
= Safer halogen free, eco-friedly product.

AG Series

Thicker sealing insert evenly hold a cable by having a larger holding
area.
Remains durable even after repeated tightening / loosening.

Technical Data

Protection class: IP68 1bar / 30min

Compliant with EN50262 Ver. A

Lamellar insert type

If over-tightened, it can cause the rubber bush or cable to deform, which
can allow water to seep in.

AG-1

L Y

v —
& 7=

Components = PA6GF = Polyamide6 Glass Fiber Filled

[No. | parname | e
EN Cap PA6GF

n Sealing insert TPE

Connector PA6GF

[ 4 | Lock nut PAG

® Lock nut is not included for M8 and M10 sizes.
Please drill a proper thread hole into the enclosure for installation.

® Proper tightening torque varies by each cable diameter.
Tighten the cap until top of the sealing insert forms a small
bead between the cap and the cable.




= No optional sealing washer is required when installing on an even surface Waterproof rib
because of the built-in waterproof rib.

= An optional sealing washer is required when installing on an uneven surface.
(See page AGP-1 for more information on the optional sealing washer)

17

PN

Sealing washer / Sealing washer / /8 o

AG dimensions = DXF/DWG/PDF drawings available on our website.

m Lock nut is not included for M8 and M10 sizes.
Please drill a proper thread hole into the enclosure for installation.

Product no. / Dimensions

ack o
— 25 815 10 17 12 —

AGB8-3.5B AGB8-3.58 M8x1.0 13.2 — 1
AG8-5B AG8-5S M8x1.0 = 3.5 4.7 10 17 12 13.2 — — 1
AG10-6B AG10-6S M10x1.0 — 4 6 10 19 15 16.5 — — 1
AG12-5B AG12-58 M12x1.5 ®12.2 3.5 4.7 12 235 17 18.7 18.8 5 1
AG12-6.5B AG12-6.5S M12x1.5 ®12.2 5 6.5 12 23 17 18.7 18.8 5 1
AG12-8B AG12-8S M12x1.5 ®12.2 6.5 7.8 12 23 17 18.7 18.8 5 1
AG16-10B AG16-10S M16x1.5 $16.2 8 10 12 26 21 231 24.3 5] 1
AG20-15B AG20-15S8 M20x1.5 ©20.2 1" 15 13 27 27 29N 28 6 1
AG25-16B AG25-16S M25x1.5 ®25.2 12.5 16 13 34 34 374 36 6.7 1
AG25-20B AG25-20S M25x1.5 $25.2 16 20 13 34 34 37.4 36 6.7 1
AG32-25.5B AG32-25.58 M32x1.5 $32.3 21 2515) 15 36 41 45.6 46 8 1
AG40-28.5B AG40-28.5S M40x1.5 $40.3 24 28.5 15 41 50 55.4 53.5 9 1
AG40-33B AG40-33S M40x1.5 ©40.3 28.5 33 15 41 50 55.4 53.5 9 1
AG50-37B AG50-37S M50x1.5 ®50.4 33 37 16 45 60 65.5 66 9.6 1
AG50-42B AG50-42S M50x1.5 ®50.4 37 42 16 45 60 65.5 66 9.6 1

AG-2



AGP SERIES

SEALING WASHER for AG * AGSP

YeXoJol®

m Sealing washer for AG series.

= Made from oil resistant NBR material.

m Use in the case of installation on a rough or uneven surfaces.
m Selectable in 7 sizes (from M12 to M50)

m Sealing washer is not necessary for installation on flat surfaces.

AGP Dimensions

D1

ES

D2

BN

]

u Material : NBR

Product no. / Dimensions

20 12 1.6 10

AGP-12 AG12
AGP-16 235 16.5 20 AG16
AGP-20 29 20 2.0 AG20
AGP-25 37 25 20 AG25
AGP-32 44 32 22 AG32
AGP-40 52 40 22 AG40
AGP-50 64 50 3.1 AG50

AGP-1



RSP SseERIES STRAIN RELIEF CABLE GLAND

/ RSP dimensions

9’/«@ ~ % LT?MQWE

u DXF/DWG/PDF drawings available on our website.

Components = PA = Polyamide
No. | Patname | Moral |
Technical Data EN Strain relief cap PAGG (UL94V-2)
- Sealing insert NBR
Protection class : IP67
Temperature range -20°C ~ +80°C n eleciol (PSS (UL
B O-ring NBR
[ 4 | Lock- nut PA66 (UL94V-2)

Product no. / Dimensions

RSP12-6B RSP12-6S M12x1.5 912.2 1
RSP16-8B RSP16-8S M16x1.5 916.2 4 8 9 69 19.5 21 1
RSP20-11B RSP20-11S M20x1.5 920.2 6 1 10 82 24 26 1
RSP25-16B RSP25-16S M25x1.5 925.2 1" 16 12 102 33 36 1

RSP-1



	WSC
	RMW～RM


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




